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cg';'rL ! 

h}ldgL gu/kflnsf cfufdL cf=j= )&%.)&^ sf nfuL  

lgwf{/0f ul/Psf] s/ tyf b:t'/x?sf] b/  

gu/sfo{kflnsf af6 :jLs[t ldlt M @)&%÷)#÷@$ 

gu/;efaf6 kfl/t ldlt M @)&%÷)#÷@% 

 

]l;=

g+ 
Jojzfosf] gfd tyf lsl;d 

cf=j= 

@)&$÷)&% 

sf] :jLs[t b/ 

cf=j= 

@)&%÷)&^ sf] 

k|:tfj  

1 Jofkf/Ls j:t'   

 – Hj]n/L -uxgf k;n_ pRr 2500 2500 
 – Hj]n/L -uxgf k;n_ dWod 2000 2000 
 – Hj]n/L -uxgf k;n_ ;fgf 1500 1500 
 – l8kf6{d]G6n  :6f];{  2000 2000 

1=2 – lgdf{0f ;fdfu|L  4,000 4,000 
 –k]6«f]lnod kbfy{ kDk 3,000 3,000 
 – xf8{ jo/ k;n -7"nf]_ 2000 3000 
 – xf8{ jo/ k;n -dWod_ 1500 2000 
 – xf8{ jo/ k;n -;fgf]_ 1000 1500 
 – xf8{ jo/ k;n ldl>t -7"nf]_ 2000 2000 
 – xf8{ jo/ k;n ldl>t -dWod_ 1500 1500 
 – xf8{ jo/ k;n ldl>t -;fgf]_ 1000 1000 
 – /+u, /f]ug  tyf l;;f k;n  -7"nf]_  2000 2000 
 – /+u, /f]ug  tyf l;;f k;n     -;fgf]_     1500 1500 
 – sDko'6/, lah'nLsf ;fdfg, Sofd]/f, /]l8of], 

6]lnlehg, kmlg{l;ª tyf lkmlgl;ª k;n -7"nf]_ 

2000 2000 

 – sDko'6/, lah'nLsf ;fdfg,Sofd]/f, /]l8of], 

6]lnlehg, kmlg{l;ª tyf lkmlgl;ª k;n -;fgf]_ 

1500 1500 

  On]S6«Ls tyf On]S6«f]lgS; dd{t 1500 1500 
1=3 – b}lgs pkef]Uo ;fdfg   

 – b}lgs pkef]Uo ;fdfgsf] yf]s ljqm]tf 1,000 1,000 
 – ls/fgf k;n -7"nf]_  1,000 1,000 
 – ls/fgf k;n dWod 700 700 
 – ls/fgf k;n v'b|f 500 500 
 – kmnkm'n tyf t/sf/L k;n -7'nf]_ 1,000 1,000 
 – kmnkm'n tyf t/sf/L k;n dWod 700 700 
 – kmnkm'n tyf t/sf/L k;n  ;fgf]  500 500 
 – ;'tL pgL, gfOng sk8f k;n   -7'nf]_  1,000 1,000 
 – ;'tL pgL, gfOng sk8f k;n  dWod 800 800 
 – ;'tL pgL, gfOng sk8f k;n   -;fgf]_  700 700 

 Kfm]G;L pRr 1000 1500 
 kmG;L dWod 800 1000 
 kmG;L ;fgf] 500 700 
1=4 – ;jf/L ;fwg ljq]mtf    
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 – ;fO{sn 1000 1000 
 – df]6/ ;fO{sn 3000 3000 
 – 6«ofS6/ 7'nf] 4000 4000 
 – 6«ofS6/ kfj/ 6«]n/ 3000 3000 
 – rf/kf+u|] xn'sf ;jf/Lx? 4000 4000 
 – j; tyf 6«s 5000 5000 

2= – ljz]if1 k/fdz{ tyf cGo Joj;foLs ;]jf    
 – lrlsT;s 2,000 2,000 
 – bGt lrlsT;s l/;r{ 2,000 2,000 
 – kz' lrlsT;s 1500 1500 
 – slj/fh 1,000 1,000 
 – O{l~hlgo/ 2,000 2,000 
 – sfg'g Joj;flo 1,500 1,500 
 – n]vfkl/Ifs   
 – s ju{  2000 2000 
 – v ju{ 1500 1500 
 – u ju{ 1200 1200 
 – 3 ju{ 1000 1000 
 – ljdf Ph]06 1500 1500 
 – ;e]{o/ 1500 1500 
 – cg'jfbs 1000 1000 
 – gf]6/L kJnLs ;]jf 1000 1000 
 – cg';Gwfg stf{ tyf k/fdz{bftf 1500 1500 
 – sDKo'6/ Pgflni6 tyf k|f]uf|fd/ 1500 1500 
 – z]o/ bnfn 1,000 1,000 
 – ;fdfg 9'jfgL stf{ sDklg 2,000 2,000 
 – ;+:yfut k]06/  5000 5000 

3= lgdf{0f Jojzfo   
 gu/kflnsf If]qdf k|wfg sfof{no ePsf lgdf{0f 

Joj;foL  

  

 – s ju{  8000 8000 
 – v ju{  7000 7000 
 – u ju{ 6000 6000 
 – 3 ju{ 5000 5000 

4= pTkfbg d'ns pBf]u    
 – rfprfp pBf]u 7"nf] 3000 3000 
 – rfprfp pBf]u 3/]n' 2000 2000 
 – d}gjlQ pBf]u  3/]n' 1000 1000 
 – sfkL pBf]u  3/]n' 2000 2000 
5= phf{d'ns pBf]u   
 – xfO{8«f] kfj/ k|f=ln= 15000 15000 
 – jfo' ÷ ;f}ozlSt jf sf]Onf pBf]u 500 500 
 – n3' hnljWf't of]hgf 7'nf] 1500 1500 
 – n3' hnljWf't of]hgf ;fgf] @) jf6;Dd 1000 1000 
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6= s[lif tyf ag hGo pBf]u    
 – s'6fgL lk;fgL ;lxtsf] t]n k]Ng] ldn 2000 2000 
 – s'6fgL lk;fgL ldn 2000 2000 
 – kmlg{r/ pBf]u 5000 5000 
 – kz' bfgf pBf]u 2000 2000 
 – kf]N6«L kmd{ pRr 2000 2000 
 – kf]N6«L kmd{ ;fgf] 1500 1500 
 – a+u'/ kfng 3000 3000 
 – e}+;L kfng Jojzfo 1500 1500 
 – ufO{ kfng Jojzfo 1500 1500 
 – jfv|f kfng Jojzfo 1500 1500 
 – ;]n/–ldn  4000 4000 

 –h'; tyf cGo h'; hGo k]o kbfy{ 2000 2000 
7= vlgh pBf]u 3,000 3,000 
 9'uf vfgL  2000 2000 

8= ko{6g pBf]u   
 – xf]6]n pRr 4000 4000 
 – xf]6]n dWod 2000 2000 
 – xf]6]n ;fgf] 1500 1500 
 – cGo ;–;fgf lrof vfhf tyf vfgf k;n 1000 1000 
 – /]i6'/]i6 P08 jf/ 1500 1500 
 – nh e} l8i6«Ln/L ;fdfg a]Rg]  3000 3000 
 – uhn /]i6'/]06 -bf]xf]/L;f+em ;d]t_  5000 5000 

9= ;]jf pBf]u   
 – ckm;]6 k|]; 2500 2500 
 – n]6/ k|]; 1500 1500 
 – rnlrq lel8of]  3000 3000 
 – ;fj{hlgs kl/jxg ;]jf gu/kflnsf leq k|wfg 

sfof{no ePsf]  

5000 5000 

 – ;f= kl/jxg ;]jf gu/kflnsf leq zfvf sf= 

ePsf] 

4000 4000 

 – kmf]6f]u|fkmL 1000 1000 
 –rfjL lgdf{0f 1000 1000 
 – k|of]u zfnf  1000 1000 

10= lgdf{0f pBf]u   
 – l;d]G6 Ans pBf]u 2000 2000 
 – d]6n ÷ lu|n pBf]u 3000 3000 
 – O6\6f pBf]u -lrDgL e6\6f _ 2000 2000 
 – cGo pBf]u 1500 1500 

11= ;+rf/ ;]jf   
 – lghL df]jfO{n ;]jf s]Gb| 3000 3000 
 – lghL 6]lnkmf]g tyf km\ofS;;]jf 1000 1000 
 – km\ofS; kmf]6f]skL tyf lk|06/ ;]jf 1000 1000 
 – df]jfOn kmf]g ljqmL dd{t 1,500 1,500 
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 – P;=l6=8L, cfO= P;=l6=8L,   

  Od]n 

1,500 1,500 

 – kmf]g OGSjfo/L -Inquiry_ 1000 1000 
 – s'l/o/ ;]jf  1000 1000 
 – ;fO{j/ ;]jf 1000 1000 
 – Screen Print 5kfO{ tyf k|sfzg 1000 1000 
 –kmf]g OGSjfo/L 500 500 

12= ljlQo ;]jf   
 – g]kfn ;/sf/sf] k"0f{ :jfldTjdf /x]sf] afx]s 

cfly{s sf/f]jf/ ug]{ a}+s  

  

 – cfly{s sf/f]jf/ ;d]t ug]{  

  ljlQo sDkgLsf] d'Vo sfof{no 

5000 5000 

 – ljlQo sDkgLsf] zfvf sfof{no 3000 3000 
 – ljdf sDkgL 5000 5000 
 – ljb]zL d'b|f ;6xL  2000 2000 
 – dgL 6«fG;km/ 2000 2000 
 – lwtf] kq sf/f]jf/ 1500 1500 
 – ;xsf/L j}+s 1500 1500 
 – lglh If]qsf jfl0fHo a}+sx? 9000 11000 
 – lglh If]q ;d]tsf] :jfldTjdf /x]sf ljsf; j}s 6000 8000 
 – ljdf sDklgsf zfvf jf ;Dks{ sfof{nox?  3,000 3,000 
 –;e]{o/ ;]jf s]Gb|  2000 2000 

13= :jf:Yo ;]jf   

 – u}x| ;/sf/L c:ktfn 4000 4000 
 – ;fd'bflos c:ktfn 2,000 2,000 
 – gLlh:t/sf c:ktfn tyf  

l/;r{ k|f=ln=  

2500 2500 

 – gl;{ª xf]d  2500 2500 
 – Nofj tyf lSnlgs 2,000 2,000 
 – xf]ldof]KofyL tyf k|fs[lts lrlsT;f lSnlgs 1000 1000 
 – cf}ifwL k;n yf]s -hg:jf:Yy_ 3,000 3,000 
 – cf}ifwL k;n v'b|f   ,, 2,000 2,000 
 – cf}ifwL k;n -cfo'{j]lbs_ 1,000 1,000 
 – cf}ifwL k;n kz' :jf:Yo 2,000 2,000 
 – kz' k+IfL bfgf k;n 1500 1500 
 – h8L a'6L k;n  500 500 

14= lzIff ;]jf   
14=1 – gLlh If]qsf :s'n SofDk;,  

  ljZj ljBfno  

  

 – gLlh If]qsf SofDk; / !)±@ 1,000 1,000 
 – gLlh If]qsf df=lj= :s'n 900 900 
 –  ,,     ,, lg=df=lj= :s'n 800 800 
 – gLlh If]qsf k|f=lj= :s'n 800 800 
 – gLlh If]qsf k'j{ k|f=lj :s"n 800 800 
 – lglh If]qsf xf]:6]nx?  1000 1000 
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14=2 – tflnd tyf cg';Gwfg s]Gb|,  2000 2000 
 – k|fljlws lzIffno 2500 2500 

14=3 – 6fOlkª, sDKo'6/ tyf efiff k|lzIf0f s]Gb| ;+:yf    
 – 6fOlkª 1,000 1,000 
 – sDKo'6/ 1,500 1,500 
 – 6\o'zg tyf sf]lrª ;]G6/  3000 3000 
 – efiff k|lzIf0f s]Gb| 1500 5000 

15= dd{t ;+ef/ s]Gb|    
 – x]eL OSo'jd]G6 dd{t  s]Gb|  2500 2500 
 – a;, 6«s, sf/  2000 2000 
 – df]6/ ;fOsn  1800 1800 
 – ;fOsn tyf cGo 1,000 1,000 
 – /]8Lof], 6]lnlehg, 38L, k|];/ s's/, 6]lnkmf]g 

;]6, lx6/, / ljB'lto ;fdfg 

  

 – /]l8of] tyf l6=eL= dd{t s]Gb|  1,500 1,500 
 – /]l8of] tyf 38L dd{t s]Gb| 1200 1200 
 – 38L dd{t 1000 1000 
 – k|];/ s's/, lx6/, 6]lnkmf]g ;]6, l;nfO{d]zLg 

dd{t  

1000 1000 

 –kmf]6f]skL sDKo'6/ dd{t 1500 1500 
 –cGo On]S6Ls tyf On]S6f]lgs; dd{t 1500 1500 
16= cGo ;]jf   
 – lj1fkg Ph]G;L  1000 1000 
 – a}b]lzs /f]huf/ ;]jf  1500 1500 

 – :jb]zL /f]huf/ ;]jf 1000 1000 
 – ;]qm]6/Lon ;]jf 1000 1000 
 – xfplhª sDkgL tyf 3/hUuf vl/bljqmL -

l/on:6]6_+  

4000 4000 

 – Ao'6L kfn{/, s]z >[uf/  1000 1000 
 – 8«fO lSng;{ 800 800 
 – kmf]6f] :6'8Lof]  1000 1000 
 – ;fOgjf]8{ k]G6Lª ;]jf  800 800 
 – kz' jwzfnf÷aw:yn 2,000 2,000 
  dfz' ljqm]tf   
 – dfz' ldl>t -s'v'/f / df5f afx]s_ 1000 1000 
 – df;' s'v'/fsf] 800 800 
 – df;' vzL, af]sf 1000 1000 
 – df;' /f+uf, a+u'/ 1000 1000 
 – df5f  1000 1000 

19= dflysf] jlu{s/0fdf gk/]sf cGo ljljw ;]jf 

Joj;fo tyf sf/f]jf/x?  

  

 – l;nfO{ k|lzIf0f s]Gb|  1000 1000 
 – k'n xfp; -O:g's/_ 1500 1500 
 – l;nfO{ s]Gb| @ eGbf a9L d]l;g -6]n;{_ 1000 1000 
 – l;nfO{ k|lzIf0f s]Gb|  1000 1000 
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 – 6]n;{ -sk8f ;lxtsf]_ 1500 1500 
 – sjf8L ;+sng 1000 1000 
 – rgf r6k6 7]nf 500 500 
 – sk8f h'Qf k;n 1500 1500 
 – 5fnf h'Qf k;n pRr 1500 1500 
 – 5fnf h'Qf k;n ;fwf/0f 1000 1000 
 – 5fnf h'Qf lgdf{0f tyf dd{t  s]Gb|  500 500 
 – ef8f k;n ;fwf/0f 1500 1500 
 – ef8f k;n 7'nf 2000 2500 
 –r'/f k;n 500 500 
 – r:df k;n 1500 1500 
 – d]zLg/L kf6{ k'hf{ k;n 3,000 3,000 
 – xhfd k;n 1000 1000 
 – 8«fOleª OG:6LRo'6 2,000 2500 
 – kfg k;n 500 500 
 – km'n k'hf ;fdfu|L k;n  1000 1000 
 – l8lh6n sn/ Nofa  2000 2000 
 – l8lh6n sn/ Nofa ldl8od 1500 1500 
 – Nkm]S;, lk|G6/ ;]jf  3000 3000 
 – sn/ Nofa 1,500 1,500 
 – cl8of] tyf le8Lof]  Sof;]6 ;]06/  1000 1000 
 – b'Uw8]/L, ;xsf/L ;+3 1,500 1,500 
 – b'Uw8]/L 1000 1000 
 –b'Uw lr:ofg s]Gb| 2000 2000 
 – :ofgfL6/L ;fdfgsf] k;n 1000 1000 
 – Knfi6Ls d]r s'rL{ tyf cGo ;fdfu|L k;n  1500 1500 
 – Uof+; l;ln08/ ljqm]tf 1000 1000 
 – sf]N8{ l8«ª;\ k;n 1000 1000 
 – pg k;n 1500 1500 
 – xf]lhof/L pBf]u pRr 1500 1500 
 – xf]lhof/L pBf]u dWo]d 1000 1000 
 – xf]lhof/L pBf]u ;fwf/0f 800 800 
 – s:6d]6Ls k;n  1200 1200 
 – s:6d]6Ls k;n ;fwf/0f 1000 1000 
 – :6]zg/L xf]n;]n  2000 2000 
 – :6]zg/L 7'nf]  1500 1500 
 – :6]zg/L ;fgf] 1000 1000 
 – kq klqsf k;n 500 500 
 – ld7fO{ k;n -ldi7fg e08f/_ 1000 1000 
 – dMd /]i6'/f+ 1500 1500 
 – ef]hgfno /fd|f] 1500 1500 
 – ef]hgfno ;fwf/0f 1000 1000 
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 – cGo k;n tyf ;– ;fgf kfp/f]6L bfndf]6, 

d;nf,  d}g alQ h:tf 3/]n' pBf]u 

1000 1000 

 – sG;N6]G;L Pj+ k/fdz{ ;]jf 3,000 3,000 
 – d]g kfj/ s= zfvf sfof{no     5,000     5,000 
 – s[lif lap lahg e08f/ 500 500 
 – केवल लाइन प्रसारण 3000 3000 
 – Pkm= Pd= /]l8of] k|;f/0f 3000 3000 
 – Pkm=Pd= /]l8of] -;fd'bflos_ 2000 2000 
 – 6«fG;kf]6{ ;]jf 2000 2000 
 – 7]sf ef8f  500 500 
 – df6fsf ef8f  500 500 
 – dfbn  500 500 
 – 8fnf gfªnf k;n  500 500 
 – bfgf tyf cfn' Kofh yf]s ljlqm k;n   2,000 2,000 
 – ;f]nf/ kfj/ ;Knfo/    2,000 2,000 
 – vnf}gf tyf pkxf/ 7'nf]  2000 2000 
 – vnf}gf tyf pkxf/ ;fgf] 1000 1000 
 – Dflb/f l8n/  – 4000 
 – dlb/fhGo k;n  2000 2000 
 –r;\df dd{t s]Gb| 1000 1000 
 – k]k/ x]08Lqmfk\m6 ;DaGwL k;n 1000 1000 
 – hl8j'l6 k;n 500 500 

 –kfFr jf ;f]eGbf jl9 Jojzfo /x]sf] k|f=ln= 4000 4000 
 –cGo ljleGg k|sf/sf k|f=ln= 3,000 3,000 
 –b'O{b]lv $ j6f Jojzfo /x]sf] k|f=ln= 3000 3000 
 –km\ofS; tyf lk|06/ ;]jf 1500 1500 
 –Knfli6s d]r s'lr{ k;n 1000 1000 
 – Knfli6s cGo k;n 1000 1000 
 – rfpldg pBf]u 500 500 
 – ldg/n jf6/ pBf]u 3,000 3,000 
 – ldg/n jf6/ xf]n;]n k;n 2,000 2,000 
 – kf6L Kofn]; 4,000 4,000 
 – cfNd'lgod pBf]u 4000 4000 
 – cGo k;n 500 500 
 – sG;'n/ k|dfl0ft – 500 
 – 3/ jxfn s/ – 10% 

 – Joj;fo gljs/0f z'Ns – btf{ ;/x 

 – Joj;fo gfd;f/L – btf{ ;/x 
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;jf/L ;fwg s/ M– 

l;=g+= ;jf/L ;fwg lsl;d 
cf=j=)&$.)&% 

sf] :jLs[t b/ 

)&%.)&^sf] 

k|:tfj 

1= – a; 6«s nx/L / cGo x]eL uf8L 700 700 
2= – ef8fsf sf/ hLk Eofg / 6\ofS6/    300 300 
3= – ef8fsf 6]Dkf]  kfj/ 6]n/ 200 200 
4= – ef8fsf  ldgLa;, ldgL6«s  700 700 
5= – gLlh, sf/ tyf 6]Dkf], ldgL a;, 6«s 200 200 
6= – :s'6/, df]6/;fOsn tyf cGo  ;jf/L  100 100 
7= – 7]nf uf8f tyf l/S;f 25 25 

 8= 
– btf{ tyf ;+rfng Ohfht b:t'/ g=kf=df  

7]nf /]S;f 6f+uf btf{ u/L gDa/ lbP 

jfkt 

50 50 

 

 

 

dgf]/~hg s/ M– 

l;=

g+= 
dgf]/~hgsf ;fwg 

cf=j= )&$.)&% 

sf] :jLs[t b/ 

)&%.)&^ 

sf] k|:tfj 

1= – l;g]df xn, le8Lof] xn, ;f+:s[lts k|bz{g 

:yn, lyo6/ ;+uLt tyf dgf]/~hg k|bz{g 

:ynsf] k|j]z z'Nsdf   

? 3 ? 3 

2= – /df|Onf] d]nf k|ltlbg  500 500 
3 – kfls{ª z'Ns 7'nf ;jf/L 20 20 
4 – kfls{ª z'Ns ;fgf ;jf/L 10 10 
5 – 6]lsª 50 50 

 

Joj;foLs le8Lof] s/ M– 

l;=g+= le8Lof] 
cf=j= )&$.)&% 

sf]  :jLs[t b/ 

)&%.)&^sf] 

k|:tfj 

1= – k|lt le8Lof]  500 500 
       

d'Nof+sg ;]jf z'Ns M–  

l;=g+= d'Nof+sg 
cf=j=)&$.)&% 

sf] :jLs[t b/ 

)&%.)&^sf] 

k|:tfj 

1= – ;DkQL d'Nof+sg k|lt xhf/  ?k}ofsf]  0=75 0=75 
2= – cfo>f]t k|dfl0ft k|lt xhf/ ?k}ofsf] 0=75 0=75 

 

 

l;kmfl/; b:t'/ M– 

 

l;= 

g+= 
l;kmfl/;sf] ljj/0f 

cf=j= )&$.)&% 

sf]  :jLs[t b/ 

)&%.)&^sf] 

k|:tfj 

1= jz+hsf] gful/stf l;kmfl/; -lgj]bg b:t'/ ? @) ;lxt_ 70 100 
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2= hGdsf] cfwf/df ul/g] gful/stf l;kmfl/;    ,,      ,, 70 100 
3= g]kfnL k'?if;+u ljjfx ug]{ ljb]lz dlxnfsf] gful/stf l;kmfl/; 500 500 
4= gful/stfsf] k|ltlnlk l;kmfl/;  150 200 
5= gful/stfsf] ;+zf]wg l;kmfl/;  150 200 
6= gftf k|dfl0ft -lgj]bg b:t'/ ;lxt_ 200 250 
7= ljB't l;kmfl/;  200 200 
8= gfd ;+zf]wg, gfd 5'6 tyf b'O{ gfd l;kmfl/; 200 200 
9= hGd ldlt k|dfl0ft 150 150 
10= :yfO{ jf c:yfO{ a;f]af; ;DaGwL l;kmfl/;  150 150 
11= gfd y/ hGdldlt ;+;f]wg l;kmfl/;  150 200 
12= 3/hUuf gfd;f/L l;kmfl/; -:jfldTj x:tfGt/0f_ 200 200 
13= ;DaGw ljR5]b ePsf] l;kmfl/z 500 500 
14= km's'jf l;kmfl/;  200 200 
15= k]G;g sf8{ jf ;f] ;DaGwL cGo l;kmfl/; 200 200 
16= xsjfnf ;+/If0f l;kmfl/;  150 150 
17= gSsn k|dfl0ft b:t'/ -Plss[t /l;b ;d]t_ 50 100 
18= Joj;fo btf{ k|df0f kqsf] gSsn k|lt  200 200 
19= Joj;fo btf{ nut s§fsf] l;kmfl/;  300 300 
20= 3/gS;f gfd;f/L  500 500 
21= 3/ lgdf{0f ;DkGg l;kmfl/; -cf/=l;=l;=_ 1000 1000 
22= 3/ lgdf{0f ;DkGg l;kmfl/; -sRrL 3/_ 200 200 
23= gLlh If]qsf ?v s6fg l;kmfl/;  500 100-k|lt uf]6f_ 
24= ldnfkq b:t'/ 100 100 
25= gfjfns l;kmfl/;  100 100 
26= 36gf btf{ hGd d[To', ljjfx h:tf l;kmfl/; 150 150 
27= ljleGg blnt,hg hftL tyf y/ k|dfl0ft  150 150 
28= s/ lslno/ l;kmfl/; g]kfnL  300 300 
29= kfl/jfl/s ljj/0f  300 300 
30= vfg]kfgL ;DjlGw l;kmfl/;  200 200 
31= pBf]u l;kmfl/;   
 -s_ ;fgf   500 500 
 -v_ demf}nf 1000 1000 
 -u_ 7"nf 1500 1500 

32= lghL ljBfno ;+rfng tyf sIff yk cg'dltsf] l;kmfl/;    
 -s_ k'j{ k|f=lj= 1000 1000 
 -v_ k|f=lj= 1000 1000 
 -u_ lg=df=lj= 1500 1500 
 -3_ df=lj= 1600 1600 
 -ª_ pRr df=lj=-!! / !@_ 1700 1700 
 -r_ :gfts tx  2000 2000 

33= j}4]lzs k|of]hgsf nflu c+u|]hL efiffdf ul/g] ;a} k|sf/sf l;kmfl/; 500 500 
34= Rff/lsNnf k|dfl0ft  500 500 
35= 3/af6f] l;Kfmfl/; ahf/ / af6f]n] hf]l8Psf] If]q . 500 500 
37= u|fdL0f If]qsf cGo 3/af6f] l;kmfl/; k|lt l;kmfl/; 300 300 
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38= 3/ 9nfg ubf{ jf6f] k|of]u ;DaGwL lzkmfl/; 500 500 
39= ljw't ly|km]h l;kmfl/; 600 600 
40= dfly pNn]v afx]ssf ;j} lsl;dsf l;kmfl/;  300 300 
41= ;fdfGo l;kmfl/; 50 50 
 ;d'x btf{ l;Kfmfl/; 300 300 
 ;d'x gljs/0f l;kmfl/; 150 150 

42= ;+:yf btf{ lzkmfl/; 500 1000 
43= u}=;=; gljs/0f l;kmfl/; -n]vf kl/If0fsf cfwf/df_   
 Ps nfv ;Dd sf/f]jf/ ePsf] – 100 
 Ps b]lv ltg nfv ;Dd sf/f]jf/ ePsf] – 200 
 ltg b]lv kfFr nfv ;Dd sf/f]jf/ ePsf] – 300 
 kfFr b]lv bz nfv ;Dd sf/f]jf/ ePsf]  – 400 
 bz b]lv lj; nfv ;Dd sf/f]jf/ ePsf] – 500 
 lj; b]lv lt; nfv ;Dd sf/f]jf/ ePsf]  – 600 
 lt; b]lv krf; nfv ;Dd sf/f]j/ ePsf]  – 700 
 Kfrf; b]lv Ps s/f]8 ;Dd sf/f]jf/ ePsf]  – 1000 
 Ps s/f]8 eGbf dfly sf/f]jf/ ePsf] – 1500 

44= sf]if k|dfl0ft   
 Psn j8f – 50 
 Gf=kf= :t/ – 100 

45= Jf:t'ut ljj/0f ljlqm – 1000 
46= ;'lrs/0f – 1000 

 

gf]6M – gu/ If]q leqsf km/s Ifdtf ePsfx?sf] kl/ro–kq ;DaGwL, cfyL{s cj:yf sdhf]/ eO{ lgMz'Ns pkrf/ ;DjlGw 

l;kmfl/; tyf k|fs[lts k|sf]k ;DaGwL lzkmfl/;x?df lzkmfl/; b:t'/ 5'6 lbO{g]5 .  

 

JolQmut 36gf btf{ 

JolQmut 36gf btf{ P]g @)## / lgodfjln @)#$ jdf]lhd gu/ If]q leqsf JolQmut 36gf btf{jf6 

cfpg] /fhZj :yfgLo lgsfon] cf+k}m k|of]u ug{ ;lsg] ul/ ePsf] xfn}sf] Joj:yf jdf]lhd cfufdL cf=j= 

@)&@.)&# df JolQmut 36gf btf{jf6 k|fKt cfonfO{ gu/kflnsfsf] cfGtl/s cfosf] ?kdf /fVg] ul/ b]xfo 

jdf]lhdsf 36gf btf{df b]xfo jdflhdsf] /sd z'Ns nufpg] lg0ff{o ul/of] . 

!= hGd btf{ ? %)।  

@=  d[To' btf{ ? %)। 

#= ljjfx btf{ ? %)। 

$= j;fO{ ;l/ cfpg] ? %)। 

%=     j;fO{ ;l/ hfg] %)। 

६         सम्वन्ध ववच्छेद  %)। 

 

k'gZrM hGd / d[To' btf{sf] xsdf 36gf 36]sf] #% lbg leq s'g} z'Ns nfUg] 5}g t/ c+u|]hLdf agfpFbf eg] z'Ns nfUg] 

5 . 
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axfn s/ M– 

 

l;= 

g+= 
ljj/0f 

cf=j=)&$.)&% 

sf] :jLs[t b/ 

)&%.)&^sf] 

k|:tfj 

1 

– gu/ If]q leqsf] 3/, k;n, Uof/]h, uf]bfd 

6x/f, ;]8, -5Kk/_ sf/fvfgf hUuf jf kf]v/L 

k'/} jf cf+;Ls ?kdf axfndf lbPsf]df 

;DalGwt wgLaf6 axfn /sdsf]  

1 k|ltzt 1 k|ltzt 

2 

– cfkm\gf] If]qdf cfkm'n] lgdf{0f jf /]vb]v 

jf ;+rfng u/]sf] xf6 ahf/ jf ;fj{hlgs 

:yn P}nfgL hUuf jf af6f]sf] 5]pdf c:yfoL 

k;n yfKg lbP jfkt k|lt ju{lkm6 dfl;s 

-l;hg cg';f/sf] xsdf_ 

 
 

10 
 

 
 

10 
 

3 

– cfkm\gf] If]qdf cfkm'n] lgdf{0f jf /]vb]v 

jf ;+rfng u/]sf] xf6 ahf/ jf ;fj{hlgs 

:yn P}nfgL hUuf jf af6f]sf] 5]pdf c:yfoL 

k;n yfKg lbP jfkt k|lt ju{lkm6 dfl;s  

-lgoldtsf nfuL_ 

 
 
2 

 
 
2 

 

 

lj1fkg s/ M–         

!= Jofkf/Ls lj1fkg af]8{x?df k|lt :Sjfo/  lkm6 ? 50 lj1fkg s/ nufpg]  

@= Joj;flos Jofg/ k|lt xKtf ?= 200=00 
#= Joj;flos k|rf/ k|;f/ uf8Laf6 dfOlsª k|ltlbg ?= 200=00 
$= Joj;flos k|rf/ k|;f/ l/S;faf6 dfOlsª ?= 100=00 
dfly jlu{s/0f ul/P jdf]lhd k|rf/ jf]8{ /fVg l:js[lt lb+bf jf]8{ /fVg vf]lhPsf] :yn ;fj{hlgs ePdf 

jf ;8s dfkb08 leq kg]{ ePdf ;fj{hlgs / ;f] hUuf gLlh ePdf jf ;8s dfkb08 leq gkg]{ ePdf gLlh 

dfgL ;f]lx jdf]lhd s/ b:t'/ nufO{g]5 . 
 

5f8f kz' kIfL lgoGq0f ;DaGwdf 

 !_ ufO{, uf]?, ;'Fu'/ tyf a'Fu'/sf] k|lt lbg k|lt uf]6f ?= 100=00 
 @_ xf; s'v'/f k|lt lbg k|lt uf]6f ?= 50=00 
 

k6s] Joj;fo s/ M– 

o; g=kf= If]q leq ljqmL ljt/0fsf] nflu Nofpg] / 3'lDt k;n /fVg] b]xfosf Joj;fosf nflu 

lgDgfg';f/sf b/n] k6s]  Joj;fo s/ nufpg] .  

!_ e};L, /fFuf k|lt k6s ?= !))     

@_ v;L, af]sf k|lt uf]6f k|lt k6s ? 20 
#_ xf+; s'v'/f -rNnf afx]s_ k|lt uf]6f k|lt k6s ? !        

$_ 3'lDt Joj;fo -km]G;L_         ?= !)=))  

%_ 3'lDt Joj;fo -cGo_    ?= !)=)) 

^_ ljnDj z'Ns tkm{ 

 s_ klxnf] jif{ !) % sf b/n]   
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 v_ bf];|f] jif{ !% % sf b/n]   

 u_ t];|f] jif{ @) % sf b/n]   

 3_ ;f] eGbf dfly @% % sf b/n]   
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cg';"rL !  

-bkmf # ;Fu ;DalGwt_ 

PsLs[t ;DklQ s/sf] b/ 

सि.न. म ूंल्याङ्कन रकम रु  आ.व. २०७५/०७६ को लासि 
प्रस्ताब एकककृत िम्पत्ति कर 

(वाकषिक)  

1 2,50,000.00 ;Dd hlt;'s} ePklg  25 

2 2,50,001.00 b]lv 3,50,000.00 ;Dd 130 

3 3,50,001.00 b]lv 5,00,000.00 ;Dd 160 

4 5,00,001.00 b]lv 7,50,000.00 ;Dd 190 

5 7,50,001.00 b]lv 10,00,000.00 ;Dd 220 

6 10,00,001.00 b]lv 12,50,000.00 ;Dd 250 

7 12,50,001.00 b]lv 15,00,000.00 ;Dd 300 

8 15,00,001.00 b]lv 17,50,000.00 ;Dd 340 

9 17,50,001.00 b]lv 20,00,000.00 ;Dd 390 

10 20,00,001.00 b]lv 22,50,000.00 ;Dd 430 

11 22,50,001.00 b]lv 25,00,000.00 ;Dd 500 

12 25,00,001.00 b]lv 27,50,000.00 ;Dd 570 

13 27,50,001.00 b]lv 30,00,000.00 ;Dd 650 

14 30,00,001.00 b]lv 35,00,000.00 ;Dd 800 

15 35,00,001.00 b]lv 40,00,000.00 ;Dd 850 

16 40,00,001.00 b]lv 45,00,000.00 ;Dd 900 

17 45,00,001.00 b]lv 50,00,000.00 ;Dd 950 

18 50,00,001.00 b]lv 70,00,000.00 ;Dd 1100 

19 70,00,001.00 b]lv 90,00,000.00 ;Dd 1500 

20  90 nfv eGbfdfly hlt;'s} 

eP klg   

   1800 
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Gff]6M c;St, ckfª\u tyf ljkGg gfu/Lssf] xsdf g=kf=n] ljz]if lgo{0f ug{ ;Sg]5 . 
 

;8s dd{t z'Ns M– 

s_ o; g=kf= If]qleq g+of JolQmut wf/f h8fg ubf{ jf dd{t ubf{ / 8]«gsf] lgsf; jf cGo s'g} sf/0fn] 

;8s vf8n kfg'{ kg]{ jf ;8s sf6\g' kg]{ ePdf To:tf] sfo{ ;dfKt ePkl5 ;f] km'6fOPsf] jf sf6LPsf] 

;8snfO{ k'j{ cj:yfdf Nofpg  ;f] sfo{ ug]{ JolQmaf6 lgDgfg';f/sf b/n] dd{t z'Ns lnO{ ;8s sf6\g] 

cg'dlt lbO{g]5 . t/ vfg]kfgLsf] nflu goFf wf/f h8fg / cTofjZolso 9n lgsf; ug'{kg]{ cj:yg jfx]s 

cGo cj:yfdf ;8s sf6\g] cg'dlt lbO{g] 5}g . 

!=  ;8ssf] lkr sf6\g' kg]{ ePdf ? !,@)).– Ps xhf/ b'O{;o dfq  .   

@=  lkr ;8s ePtf klg pQm lkr ;8ssf] lkr sf6\g jf km'6fpg gkg]{ ePdf ? !,))).– Ps xhf/  . 

#=  lh0f{ cj:yfdf /x]sf lkr ;8s sf6\g kg]{ jf km'6fpg kg]{ ePdf ? *)).– cf7 ;o  .  

$=  u|fe]n af6f] km'6fpg jf sf6\g kg]{ ePdf ? &)).– ;ft ;o  . 

%=  slRr af6f], uf]/]6f] af6f], cGo hUufdf vGg' jf sf6\g' k/]df ? $)).– rf/ ;o . 

^=  vfg]kfgL wf/f h8fgsf] h8fg sfo{ ;dfKt ePkl5 clgjfo{ ?kdf RofDa/ lgdf{0f ug'kg]{ .  

 

gS;fkf; b:t'/ M– 

o; g=kf= If]q leq lgdf{0f x'g] cfw'lgs 3/x?sf] nflu lgDgfg';f/sf] gS;fkf; b:t'/ jfkt lgDgfg';f/sf nfUg]5 

.  

!=  gS;fkf; lgj]bg kmf/fdsf] ? !))).– Ps xhf/ ?k}of . 

@=  e'+O{ tnf / klxnf] tnfdf k|lt ju{ lkm6 ? %.– kfFr . 

#=  bf];|f] tnfdf k|lt ju{ lkm6 ? ^ .– 5 .  

$=  t];|f] / rf}yf] / ;f] eGbf dfly tnfdf k|lt ju{ lkm6 ? ८ .– cf7 . 

%=  ahf/ If]qdf lgdf{0f x'g] kvf{nsf] k|lt ju{ lkm6 ! ?k}of .  

^     sRrL 3/ lgdf{0fsf] cg'dlt ? %)) kfFr ;o .  

8f]h/ ;+rfng ;DaGwdf 

– Gfu/kflnfsleq 8f]h/af6 sfo{ ;+rfng u/] afkt-jflif{s_ ? &%)) 
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s/ cfo k|If]k0f cf=j= @)&%÷@)&^ 

qm=; ;|f]t /sd s}lkmot 

1 Jofkfl/s a:t' 150000  

2 ph{fd'ns pBf]u 20000  

3 s[lifjg hGo pBf]u 100000  

4 Kfo{6g pBf]u xf]6n 100000  

5 lgdf{0f pBf]u 20000  

6 ;+rf/ ;]jf 10000  

7 ljlQo ;]jf 50000  

8 :jf:Yo ;]jf 30000  

9 lzIff ;]jf 5000  

10 d{dt s]Gbx? 5000  

11 cGo ;]jf df;' k;nx? 20000  

12 8f]h/ OG6«L lkm 100000  

13 ;DktL d'Nofª\g 200000  

14 l;kmfl/; b:t'/ 1000000  

15 9'ª\uf lu6\6L x:tfGt/0f 800000  

16 gS;f kf/ z'Ns 50000  

17 Plss[t ;Dklt s/ 2340000  

 


